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value : ANY
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strength_qty : PQ
amount_qty : PQ
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id: Tl
type_cd : CD
status_cd : CV 0..n
extent_tmr : IVL<PT>
container_cd : CD collected_by

additive_cd : CD
volume_qty : PQ ~ 1m3
handling_cd : CD
danger_cd : CD

You are looking at the master service, the service intent (or order) and the service event all at once. All

have the same information elements, interpreted differently according to the "mood" of the service. E.g.,
"Service.tmr" is the time range of the service. For the performed or reported service (was: Service_event)
this is the actual time the service has been done. For the order, this is the time, the service is supposed to be
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done. For the master service, this is the time the service can be done.
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